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01 H&LE2SFHSHI 9,300 40,530 A 31,230
OFUAE GHXWED 7
8,000,000& = 1CH 8,000
OFAAMT MSA HIIF 7Y 1,300
o4 E HOI= 250,000& = 10H 250




2N
X ZH -
L= B

el

LS QIEOH Bt
cel=mXsd
FR23 N

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
osgs AX 150,000 * 7H 1,050
SEIH JIsEZ 174,305 55,000 119,305
401 A& HIZ 2018 174,305 55,000 119,305
01 A& HI 174,305 55,000 119,305
O =M Hix==2 (8L JL2)2L M
136,305, 000& 136,305
O3=¢etd 28 2& S At £3dl 38,000,000& 38,000
e Hat SR =8 XIS 28 FU=SJ AL 300,000 300,000 0
X&
401 A& HIZ 201 Y| 300,000 300,000 0
01 A& HI 300,000 300,000 0
OJIEHat 2 ¥ =0l=J At Hl 300,000,000& 300,000
Sdd EZ HWES ALY 1,386,000 0 1,386,000
= 693,000
Al 693,000
401 AIEHI L 2 CHYI 1,386,000 0 1,386,000
= 693,000
Al 693,000
01 A& HI 1,386,000 0 1,386,000
O=dd StTAE SUSAY
1,386,000,000& * 1JH A 1,386,000
= 693,000
Al 693,000
ZOHAU=EX 2 82,096,053 70,332,800 11,763,253
= 42,182,774
< 7,602,536
Al 32,310,743
ORI =X Jlgtx4H 51,888,857 43,155,429 8,733,428
= 28,416,130
< 4,806,650
Al 18,666,077
FoelAs 14,553,590 12,199,938 2,353,652
= 10,187,513
=) 1,309,823
Al 3,056,254
301 et d = 14,553,590 12,199,938 2,353,652
= 10,187,513
=) 1,309,823
Al 3,056,254
01 MEI2ZE 06z 14,553,590 12,199,938 2,353,652
OHMASX= 14,553,590, 000& 14,553,590
= 10,187,513
< 1,309,823
Al 3,056,254
o= (0lx) 1,591,423 1,581,518 9,905




2N
X ZH -
L= B

el

LS QIEOH Bt
=X 7
Foper=sx oty

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 1,113,996
& 334,199
Al 143,228
301 LEtE A= 1,591,423 1,581,518 9,905
= 1,113,996
& 334,199
Al 143,228
01 Al E & A 46 2 1,591,423 1,581,518 9,905
OXHMLEH(II=x) 1,591,423,000& 1,591,423
= 1,113,996
= 334,199
Al 143,228
LS (XA E) 1,165,485 1,194,909 AN29,424
= 815,840
=} 244 752
Al 104,893
301 et A= 1,165,485 1,194,909 N29,424
= 815,840
= 244 752
Al 104,893
01 M EXEE 4562 1,165,485 1,194,909 N29,424
OXMNLH (XA S) 1,165,485,000& 1,165,485
= 815,840
& 244 752
Al 104,893
oA ES A 415,960 412,350 3,610
201 gBt24d| 41,760 58,150 A 16,390
01 AFR2 22| H| 41,760 58,150 A 16,390
OZMeEXINE FIASELS N (s & 2
H =) 3,220& * 8,000A4 25,760
OHMRUXNSXNHIEERZ SH2 &0t ez
Hl = 4,000€ = 4,0000H 16,000
307 2Iz2t0| & 374,200 354,200 20,000
11 A EXAIEEX 374,200 354,200 20,000
OXOMICHH &2z X
75,200,000 * 104 75,200
O%3stnas 249 6,000,000& = 1JH A 6,000
OBNARHD ASNAANY 2
30,000,000& * 102 30,000
OXMIBHH 24 40,000,000 = 1JH A 40,000
ONHEOH XHOISAIE 24
20,000,000 * 1= 20,000
ONHEOH EXxHg 2
3,000,000& = 1JHA 3,000
OZOHO AREXNY 2Y
10,000,000 * 1JHA 10,000




AN el 04t
PN

Hm: ZojoI=R PE
Sl ZojeI=X JIBEs (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OF XA AR &2FALY 500,000 * 123 6,000
OMIIEHA T NEANE 2
74,000,000& * 10H 2 74,000
OHMMAMITHEAN LSS SAHA SSLAY
15,000,000& * 13l 15,000
OFFANZOHAISXIE ALY
75,000,000 = 10024 75,000
OHUMA=XAIEEE SAA dg2st
20,000,000& = 13l 20,000
ZOHCI= XA &I K& 6,000 6,000 0
301 et a = 6,000 6,000 0
09 HALAHIE& S 6,000 6,000 0
OZHMOot2tEWS &It Bl 50,0008 = 40H 2,000
OXNZEZOHQ SXICHE &IHO I
50,000& = 409H 2,000
OFE=IXMEHRIE A FIHAO I
50,000& * 404 2,000
Foelns, XN XA 163,400 153,400 10,000
307 21201 A 163,400 153,400 10,000
11T MISRASEX 163,400 153,400 10,000
sSAXNZHH 29 10,000,000& * 1JH 2 10,000
OZMY RF=FFHUE 29
800,000& = 1A * 128 9,600
O=0tel=7wa 29 20,000,000& * 1JHA 20,000
OLLIMHO 2043 2Y
4,800,000 * 1J0HA 4,800
OZOots HESW 2F  3,800,000& * 23] 7,600
OZOMIE HAYH SIsXANY 29
38,000,000& * 1JH A 38,000
OAZZHL BANEAY 29
4,000,000  10H 4 4,000
OFHE eldnsE 2ZAL SEAY
30,000,000& * 10H2A 30,000
OFMHXH &us E5E27H 29
1,200,000& = 10HA « 123 14,400
OZotEs MHstsHE 29
25,000,000& * 1JH 4 25,000
SO H=AIE AKX NEHFEHZS X 20,000 28,000 A8,000
< 8,000
Al 12,000
301 et A=z 20,000 28,000 A 8,000
< 8,000
Al 12,000
TAR 2 A 256 = 20,000 28,000 A 8,000




2N
X ZH -
L= B

el

LS QIEOH Bt
=X 7
Foper=sx oty

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
PEEFEN RS EEEEEE
20,000, 000& 20,000
< 8,000
Al 12,000
HOHAHZ=AIE HAHE 2SHEH S KNE 6,420 9,800 AN 3,380
== 2,568
Al 3,852
307 2Iz2t0| & 6,420 9,800 N 3,380
& 2,568
Al 3,852
11 A EXAIEEX 6,420 9,800 N 3,380
OBOUOANFAL HAE 2SHEY S K&
6,420,000 6,420
< 2,568
Al 3,852
=ZZ 2ESA X 20,000 20,000 0
= 6,000
Al 14,000
307 S12t0| & 20,000 20,000 0]
= 6,000
Al 14,000
11 A EXAIEEX 20,000 20,000 0
OZES & R=24! 20,000,000 20,000
& 6,000
Al 14,000
AMZEOHCIDIE JtAXESE XEHD| X SAS 9,000 8,400 600
& 4,500
Al 4,500
307 2izto| A 9,000 8,400 600
& 4,500
Al 4,500
11T AISIEXAIEEX 9,000 8,400 600
OANLZOHQ IIAXRSS XD XA
9,000,000& 9,000
& 4,500
Al 4,500
ol w=dl X 82,300 82,300 0
& 32,920
Al 49,380
307 2iz2to| A 82,300 82,300 0
= 32,920
Al 49,380
11T AISIEXAIEEX 82,300 82,300 0
OZMHRIWEH XA 82,300,000 82,300
& 32,920
Al 49,380
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299,500

Al

fir

41,930
17,970
29,420
23,536

239,600

Al

fi

H

4,119
1,765
29,420
23,536

Al

i

H

4,119
1,765
29,420
29,420
23,536

Al

rr

H

4,119
1,765
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SAM: ol EOHel Dt
Hm: ZojoI=R PE
Sl ZojeI=X JIBEs (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O&Ze E4HIE XA 42,000,000& 42,000
= 29,400
< 3,780
Al 8,820
ZOHCIIEXRMEH 2 200,000 200,000 0
307 glz2tol & 200,000 200,000 0
05 RIZIRIE 3 200,000 200,000 0
OHEFAl ZOHUINEXKMEHESI
200,000,000& * 10H 2 200,000
KN MZEOHel B Al RNJHEH 2 132,000 132,000 0
< 3,960
Al 128,040
307 glz2tol & 132,000 132,000 0
< 3,960
Al 128,040
11 AISISAAISEE = 132,000 132,000 0
OXHMEHABAAL JIZXNNJAUEH 29
132,000, 000& 132,000
< 3,960
Al 128,040
ZOHQAUEOAAIL AE| H==XA 102,298 0 102,298
= 30,689
Al 71,609
101 @124 dl 102,298 0 102,298
< 30,689
Al 71,609
04 DIt Z2XEES 102,298 0 102,298
OZOHQAEHOIAIE AEH ZAHH QI24H]
1,022,980& » 20 * 5& 102,298
< 30,689
Al 71,609
FUSSEMME2S 9,950 9,950 0
= 4,975
S 3,482
Al 1,493
301 L2 A= 9,950 9,950 0
= 4,975
< 3,482
Al 1,493
01 A3l EE E 6l = 9,950 9,950 0
O SSHANE2I 9,950,000& 9,950
= 4,975
= 3,482
Al 1,493
ZOHESKH ALY 19,593,458 14,857,113 4,736,345
= 13,715,421
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X ZH -
L= B
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ni
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021 024 H-
20

o 0
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T o

x4
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SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

= H

1,175,607
4,702,430

308 MHXIHHMS0OIH

= M W

19,593,458
13,715,421
1,175,607
4,702,430

14,857,113

4,736,345

OiCHE 2 & X AAE AL HI

19,593,458,000&

= N W

19,593,458
19,593,458

13,715,
1,
4,

175
702

421

,607
,430

14,857,113

4,736,345

=z N W

,223
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873
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31,223

308 MtXIEHMSOIH

= MW
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31,223
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© 0o
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= i
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206,
482,

501

850
651

546,500

143,001

308 XM S0IH

H

Al

689,
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,651

206
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501

546,500

143,001

S A A

el = Do:i
OZTHMAEESEX FIHXF 689,501,000

Al
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206
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,501

,501

,850
,651

546,500

143,001

= M
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50

,824
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308 AHXIEHMSO0IE

= M
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o
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M Lol &0H el It
Hm: ZojoI=R PE
Ce: SR JlEtx Y (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 54,231
308 XX G SO0l & 77,473 64,800 12,673
&< 23,242
Al 54,231
10 2|2 S0 USHE A X AE AL Y| 77,473 64,800 12,673
OHORSHEZIE X 77,473,000 77,473
o= 23,242
Al 54,231
EZHMHUESSXNRAMEIA =IFXIK (XA 1,471,968 1,044,800 427,168
308 MXISHHMSOIA 1,471,968 1,036,800 435,168
10 B 2SHUSE AN E AIS Y 1,471,968 1,036,800 435,168
SOIRONQ U F 04Ol S Al CH
10,760& * 60AI2F » 120 * 12& 929,664
O HUXAE &L XXM SZO0N MCH
10,760& * 60AI2F » 70 = 128 542,304
SO E2ASIA 1,929 0 1,929
= 1,350
& 174
Al 405
308 XAHXIGHHM SO0l & 1,929 0 1,929
= 1,350
& 174
Al 405
10 B 2SO USE AN E AISH 1,929 0 1,929
ogg e F2aE XA 1,929,000 1,929
= 1,350
== 174
Al 405
S 22FA AHFEIPHES AE 2,480 0 2,480
= 1,984
o 148
Al 348
307 212t0| & 2,480 0 2,480
= 1,984
o=} 148
Al 348
11 A EXAIEEX 2,480 0 2,480
oYY X 22FA AUEIAHE XN
2,480,000 2,480
= 1,984
== 148
Al 348
S B2E2FAH E=HE N 9,000 0 9,000
= 7,200
& 540
Al 1,260




A el Zoel
Hm: ZojoI=R PE
&2 HOHA=EX JIgEH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 9,000 0 9,000
= 7,200
< 540
Al 1,260
11T M SXASEEX 9,000 0 9,000
OLZFel TTSA FSHE AL
9,000,000& 9,000
= 7,200
= 540
Al 1,260
LEMEAMEA TR 1,272,697 1,272,240 457
= 890,888
< 114,543
Al 267,266
308 A EHSOIA 1,272,697 1,272,240 457
= 890,888
< 114,543
Al 267,266
10 37/ 2S0HUHeBHEAEALS I 1,272,697 1,272,240 457
OZMOtES LLME MHlA X
1,272,697,000& 1,272,697
= 890,888
< 114,543
Al 267,266
ALY HRH AL 2,173 8,715 A6,542
= 1,521
< 196
Al 456
308 A EHHSOIA 2,173 8,715 A6,542
= 1,521
< 196
Al 456
10 37/ 2S0HUHSBHEAEALS I 2,173 8,715 NB,542
OZMARR2IIEH OIS AHLEH A
2,173,000 2,173
= 1,521
< 196
Al 456
ZOHS X LB ALE 420 6,020 25,600
201 £B-2%| 420 2,420 A 2,000
02 =224l 420 420 0
OMEMAZSESXME &S
30,000& = 12& 360
OMEMAZSESKME =23
5,000& ~ 123 60
Zojerel & At 20,000 0 20,000




A el Zoel
Hm: ZojoI=R PE
&2 HOHA=EX JIgEH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 20,000 0 20,000
04 DI2HHALALSE E X 20,000 0 20,000
OFOHIe & J1EHA 20,000,000& = 13l 20,000
EXZEOY A 4,500 0 4,500
307 eIzl & 4,500 0 4,500
04 QIZFHALAIH E = 4,500 0 4,500
OEXZEOIY A X 4,500,000 = 13l 4,500
6.350tQ12 & A 5,400 0 5,400
307 21201 A 5,400 0 5,400
04 QIZFHALAIH B = 5,400 0 5,400
©6.3.50t212 & A XA
5,400,000& = 13l 5,400
ZoHel nEEZSHul=H A 4,500 0 4,500
307 21201 A 4,500 0 4,500
04 QIZFHALAIH E = 4,500 0 4,500
OXHM WNS2toi=H A K&
4,500,000& =+ 13l 4,500
=0t st = 3,000 0 3,000
307 glz2tol & 3,000 0 3,000
04 QIZFHALAIH E = 3,000 0 3,000
O=0tQl &0tsS BXZ AL X
3,000,000& = 13l 3,000
ZOoHel 2IIME A 4,000 0 4,000
307 gl2tol & 4,000 0 4,000
04 DIZHHALALSE E X 4,000 0 4,000
OFO SIIHE A XA
4,000,000& = 13l 4,000
AZTZOHQl 2 IS At 3,000 0 3,000
307 21201 A 3,000 0 3,000
04 DIZFHALALSE E X 3,000 0 3,000
OAZZOHQ Z2IHAF XA
3,000,000& = 13l 3,000
A2 EoHel =XcHal 3,000 0 3,000
307 21201 A 3,000 0 3,000
04 QIZFHALAIH B = 3,000 0 3,000
OAIZZOHR =Xs XA
3,000,000& = 13l 3,000
WS AMD =017 A 3,000 0 3,000
307 21201 A 3,000 0 3,000




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 3,000 0 3,000
OQuUs At =017 #HAH X
3,000,000& = 13l 3,000
0o EEHBANE 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
04 DIZHHALALSE E X 20,000 0 20,000
OZO OISUH2 222 HNE AL XI&
20,000,000& = 13l 20,000
ZOHQIDIR M 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 DIZHHALALSE E X 10,000 0 10,000
QXD M ALK& 10,000,000& * 13/ 10,000
Zojol getE ATl (MY )IAIY N (=1) 1,363,106 1,027,971 335,135
= 681,553
= 204,466
Al 477,087
101 1244 dl 1,363,106 1,027,971 335,135
= 681,553
< 204,466
Al 477,087
04 DIt Z2XREES 1,363,106 1,027,971 335,135
OXoHoIYers AXelALY XI&(61H)
1,363,106, 000& 1,363,106
= 681,553
< 204,466
Al 477,087
Zofol gerE AT (AZERD)AIE X2 (2 12) 234,759 0 234,759
= 117,379
< 35,214
Al 82,166
101 @14 Hl 234,759 0 234,759
= 117,379
< 35,214
Al 82,166
04 JIZHHZ2XREES 234,759 0 234,759
OO0 LBt AXiel At (21E)
234,759,000 234,759
= 117,379
< 35,214
Al 82,166
ZOHQ SXLXIAY XE(=1) 818,400 635,040 183,360
= 409,200
< 122,760
Al 286,440
307 gl2tol & 818,400 635,040 183,360
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Off &t 24

=

i
2m

= Hn

409,200
122,760
286,440

A S XA E =
OXZOMI=SXILAtelAE K& (1559)
818,400,000

= MW
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409,200
122,760
286,440
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= MW
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307 21201 &

= MW

156,110
124,888
9,367
21,855

1562,

140

3,970

11 A EXAIS B =
OAI2ERHOH QI OFDOFAF IFA AL (109)
156,110,000

= N H

156,110

156,110
124,888
9,367
21,855
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140

3,970

= 0N W

40,041
28,029
3,604
8,408

73,

250

A 33,209

307 21201 A

= N

40,041
28,029
3,604
8,408

73,

250

A 33,209

A SR AL E =

OWEEM WEX A 40,041,000&

= N W

40,041

40,041
28,029
3,604
8,408

73,

250

A 33,209

Al
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42,000
98,000
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307 glztol &
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140,000
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L= B

el
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2201
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ni
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 12,000
Al 18,000
307 glz2tol & 30,000 30,000 0
< 12,000
Al 18,000
11T M SXASEEX 30,000 30,000 0
OWEHMe BMHW=E =Y 30,000,000& 30,000
< 12,000
Al 18,000
OlEXC JDIAER01 A (ZHI) 112,500 100,000 12,500
< 8,996
Al 103,504
307 21201 A 112,500 100,000 12,500
< 8,996
Al 103,504
11T M3 SXAISEEX 112,500 100,000 12,500
OMEMR JFIAZR0] AIH X2
112,500, 000& 112,500
< 8,996
Al 103,504
ZOHO LAUEHFIIXNIAMME 2 (= HI) 116,400 116,400 0
< 46,560
Al 69,840
307 QI2+0 & 116,400 116,400 0
< 46,560
Al 69,840
11T MISAASEX 116,400 0 116,400
OXHALZAUESHFIXNALAE 2 (20 A)
116,400, 000& 116,400
< 46,560
Al 69,840
ool ALSIESAL(ZHI) 20,000 20,000 0
< 8,000
Al 12,000
307 glz2+ol & 20,000 20,000 0
< 8,000
Al 12,000
11T MISXASEX 20,000 20,000 0
OHM ALSHESAY 20,000,000 20,000
< 8,000
Al 12,000
ZojeI=XE 2L (=Hl) 3,070,170 2,988,998 81,172
< 301,017
Al 2,769,153
307 2I2+0 & 3,070,170 2,988,998 81,172
< 301,017




M Lol &0H el It
Hm: ZojoI=R PE
Sl ZojeI=X JIBEs (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 2,769,153
10 MM SAANEEHESIGHEX 3,070,170 2,988,998 81,172
Q& EX 2 2IXHA(2MA)
3,070,170,000& 3,070,170
& 301,017
Al 2,769,153
ZOHCITHOIE X EAMMEH 29 (&) 150,700 150,700 0
& 9,042
Al 141,658
307 2iz2to| & 150,700 150,700 0
& 9,042
Al 141,658
10 MM SAANEEHESIGHEX 150,700 150,700 0
OXNMHAATHIIS K EAIHEH S XK (1HA)
150,700,000 150,700
& 9,042
Al 141,658
ZOHCIMEQISKNRK/MMEH 29 (&) 320,493 320,683 A 190
= 32,049
Al 288,444
307 2iz2tol & 320,493 320,683 A 190
= 32,049
Al 288,444
10 MM SAANEEHESIGHEX 320,493 320,683 A 190
OXNHUMEOISXNR SAXNS(1HA)
320,493,000 320,493
= 32,049
Al 288,444
TOHQIF=2UHESAIE 2H9 (& H|) 1,726,986 1,586,888 140,098
o= 165,487
Al 1,561,499
307 2Iz2to| & 1,726,986 1,586,888 140,098
= 165,487
Al 1,561,499
10 M SXAANEEHESIGHEX 1,726,986 1,586,888 140,098
FUABSAE SHX(6MHA)
1,726,986,000& 1,726,986
& 165,487
Al 1,561,499
2SIEAME 29 (& H|) 306,310 303,732 2,578
= 30,631
Al 275,679
307 2I2t0| & 306,310 303,732 2,578
o= 30,631
Al 275,679
10 M3 SXAEEHESIGHEX 306,310 303,732 2,578




2N
X ZH -
L= B

el

Off &t 24

=
i

2

306,310,000&

= M

306,310

30,631
275,679

H

Al

643,310

64,331
578,979

642,994

316

307 21201 &

m

Al

643,310

64,331
578,979

642,994

316

10 A SAAIEHIS2SHIEX

OFOMHATHEARH 2EXR (10HA)
643,310,000

in

Al

643,310

643,310

64,331
578,979

642,994

316

H

Al

451,280

135,384
315,896

448,580

2,700

307 gl2tol ™

t

Al

451,280

135,384
315,896

448,580

2,700

10 A SAAIEHISSHIEX

OB A2 2L XA (101A) 451,280,000

H

Al

451,280

451,280

135,384
315,896

448,580

2,700

12,000

12,000

12,000

12,000

stote 12,000,000& * 1%l

12,000
12,000

12,000

= MW

,207,196
, 766,644
, 795,886
,644,666

27,

177,371

3,029,825

0z
:<’D:
el
N
44
>
nx
>
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e
B>
o
00
a1l
-
o

= W

226,512
158,558
20,386
47,568

228,606

A2,094

307 glztol &

= MW

226,512
158,558
20,386
47,568

228,606

A2,094

1 ASI2RAIEE X
OXOAZIALAH 22 (2MA)

226,512,000&

H A

226,512

226,512

158,558
20,386

228,606

A2,094




2N
X ZH -
L= B o

el

LS QIEOH Bt

=

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| A 47,568
ZOHANFAIE 29 16,037,772 16,740,167 AT702,395
= 11,226,440
< 1,443,400
Al 3,367,932
307 glz2tol & 16,037,772 16,740,167 AT02,395
= 11,226,440
< 1,443,400
Al 3,367,932
10 ALl SXAIEEE2EH EX 16,037,772 16,740,167 AT702,395
OFMANFAIE 29 16,037,772,000& 16,037,772
= 11,226,440
= 1,443,400
Al 3,367,932
OIS HFAIE 2 315,851 230,061 85,790
< 31,585
Al 284,266
307 glz2+0l & 315,851 230,061 85,790
< 31,585
Al 284,266
10 ALSISXAIEEE2EHEX 315,851 230,061 85,790
OHMAHIINF=AIE 2L XA 315,851,000& 315,851
< 31,585
Al 284,266
ZHIZSSHEIE 29 1,300,561 1,171,308 129,253
< 124,800
Al 1,175,761
307 21201 A 1,300,561 1,171,308 129,253
= 124,800
Al 1,175,761
10 AL SXNAIEEE2EHEX 1,300,561 1,171,308 129,253
OFMH==SHEIE 2HXA
1,300,561,000& 1,300,561
< 124,800
Al 1,175,761
Her2d FMLH=AIE K& 225,225 205,700 19,525
= 45,046
Al 180,179
307 21201 A 225,225 205,700 19,525
= 45,046
Al 180,179
10 ALSISXAIEEHER2IHEX 225,225 205,700 19,525
OMel2d FeUAHAFAIE XA
225,225,000 225,225
< 45,046
Al 180,179




SA: SOl Eof ol
Hm: ZojoI=R PE

Chel: AIE2g Dlgtxd (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
SE=EE U ANSE AESY EX2Y 50,000 30,000 20,000
< 15,000
Al 35,000
307 gl2tol & 50,000 30,000 20,000
< 15,000
Al 35,000
11T AIS S RAEE = 50,000 30,000 20,000
OF=4btA YA 2gN
50,000,000& 50,000
< 15,000
Al 35,000
ZOHANZFAIE JIsBZ(EX) 74,202 0 74,202
= 37,101
< 11,130
Al 25,971
402 QI2H X201 M 74,202 0 74,202
= 37,101
< 11,130
Al 25,971
02 2IZE 2 A EZ(OI XM TH ) 74,202 0 74,202
QFHMLUNFAIAL JIsEZ 74,202,000 74,202
= 37,101
< 11,130
Al 25,971
ZOCIA=AIE JIsEH 15,000 37,410 A22,410
402 RI2EX=20l A 15,000 37,410 AN22,410
01 It 2 AL B (KM ) 15,000 0 15,000
Odstd 228 dIAMY XN
750,000& = 2004 15,000
ESZNANSMELAH 22 (212) 460,035 450,000 10,035
= 184,014
< 82,806
Al 193,215
307 glz2tol & 460,035 450,000 10,035
= 184,014
< 82,806
Al 193,215
11 AISI S XA E = 460,035 450,000 10,035
OESHMHA XS MEME X2 460,035,000 460,035
= 184,014
< 82,806
Al 193,215
ST A X2 (ZHl) 170,000 150,000 20,000
< 68,000
Al 102,000
307 21201 A 170,000 150,000 20,000




2N

X{ XH -
S =

LS QIEOH Bt

=

S AIE29 JIgtxd (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 68,000
Al 102,000
11T M SXASEX 170,000 150,000 20,000
OESHMHA XS MEME X2 170,000,000 170,000
< 68,000
Al 102,000
FAURAANE 2EXH 1,251,485 1,042,714 208,771
= 876,040
< 125,148
Al 250,297
307 21201 A 1,251,485 1,042,714 208,771
= 876,040
< 125,148
Al 250,297
10 ALSISXAIEEE2IHEX 1,251,485 1,042,714 208,771
OFURLANE 29 1,251,485,000& 1,251,485
= 876,040
< 125,148
Al 250,297
oo MEgE =29 28,800 28,800 0
307 gl2tol & 28,800 28,800 0
11T M SXALSE EX 28,800 28,800 0
OZMANFAHL HEE 2E X
100,000& » 244 « 128 28,800
O ESHEH X 2F 57,624 0 57,624
401 AIEHIZL 2CHEI 57,624 0 57,624
01 A& Hl 57,624 0 57,624
OZZZMHA=AESHEH A
1,591,800,000& =* 3.62% 57,624
ZOIMNATHEANE JIsE2Z(Z2) 3,327,736 889, 586 2,438,150
= 1,272,368
= 381,710
Al 1,673,658
401 AIEHI L 20 1,503,000 0 1,503,000
= 360,000
< 108,000
Al 1,035,000
01 A& Bl 1,476,634 0 1,476,634
OHFAZOHANAHS ERAL A S|
1,395,724,000& 1,395,724
= 306,362
< 91,908
Al 997,454
OFFANZMHAMAZS =S AE A
1,395,000,000& * 5.80% 80,910
= 40,455




AN ol ZoHel ot

=

M MOjI=R 7

Chel: AEeY JIBtEY (B2l &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
== 12,137
Al 28,318
02 Zeltl 21,344 0 21,344
OBEANZMANYHSERAAL Zeltl
1,395,000,000& * 1.53% 21,344
= 10,672
< 3,202
Al 7,470
03 A& S THHI 5,022 0 5,022
OBFANZHANANSERAAIL ALY
1,395,000,000& * 0.36% 5,022
= 2,511
< 753
Al 1,758
402 RI2EX=20l A 1,824,736 889, 586 935, 150
= 912,368
< 273,710
Al 638,658
02 DIt EAIL EZ (01T ) 1,824,736 889, 586 935, 150
OUAIRLAES AT (0 HUF)
720,000,000& 720,000
= 360,000
< 108,000
Al 252,000
OSSMEXAZSHAFE(MESSAL)
61,400,000& 61,400
= 30,700
< 9,210
Al 21,490
OZgtxAZo F(HHEY) 283,000,000 283,000
= 141,500
< 42,450
Al 99,050
Odl=MEa &I (ER) 402,336,000 402,336
= 201,168
< 60,350
Al 140,818
Odt=MES AR (AGHEZ) 187,000,000 187,000
= 93,500
< 28,050
Al 65,450
OREZZ2J (HHIEL) 171,000, 000& 171,000
= 85,500
< 25,650
Al 59,850
DI ATYEAIL IS (TH) 70,000 0 70,000
< 70,000
402 RI2EA=20| A 70,000 0 70,000
= 70,000
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HE: ZOjoI=X P
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 70,000 0 70,000
OXMAXNATHEANE IIsEZ(BRE2ZA S
SHAXSA) 70,000,000& 70,000
< 70,000
ZOCIEEAL JIsEZ(=1) 40,410 40,000 410
= 12,123
< 8,486
Al 19,801
402 2I2H X201 M 40,410 40,000 410
= 12,123
< 8,486
Al 19,801
02 QI EAIL EZ (01X S) 40,410 40,000 410
OFMMAUASTHE AL SEL (HEIEZL)
40,410,000& 40,410
= 12,123
< 8,486
Al 19,801
ZOAXATHEAE 2 (<Hl) 6,486,283 5,713,019 773,264
< 368,389
Al 6,117,894
307 gl2tol & 6,486,283 5,713,019 773,264
< 368,389
Al 6,117,894
10 AL SXNAIEEE2EH EX 6,486,283 5,713,019 773,264
OFMHAXMNATHEANLE 2 X (144 2)
6,486,283,000& 6,486,283
= 368,389
Al 6,117,894
ZOHKIGAISITHEAIE JsE22 69,700 220,000 A 150,300
402 2I2H X201 M 69,700 220,000 A 150,300
01 212t 2 AL E = (REMTH ) 69,700 220,000 A 150,300
OdlAZT M =X 2 NESSAGH =T)
45,000,000& = 10H 4 45,000
OXFOATHEADEAMY SEXS WM (10HL)
24,700,000& = 104 24,700
HAE2LAZH (- EO0H ) 57,796 39,628 18,168
=&l 57,796 39,628 18,168
Jl2&l 57,796 39,628 18,168
201 LBt 21,556 17,068 4,488
01 At 22l 21,556 17,068 4,488
OJlzgedastl(JIE2l)
500,000& * 174 8,500
oz3gHI(II=3Hl)
8,000& = 17 * 8 » 123 13,056
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dH2E I (= FMHA )
Jl=23tl

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
202 Od4dl 32,640 18,360 14,280
01 ZLHOt 32,640 18,360 14,280
O=3UadotI(IIEZ4l)
20,0003 = 1798 = 8¢ » 123 32,640
203 YR =&l 3,600 4,200 A 600
04 RENSEHR=LH| 3,600 4,200 A 600
©2J| & % (202! 0I5t) 300,000& = 12& 3,600
HREs(-olzofel ) 200,000 0 200,000
HEAHHKI = 200,000 0 200,000
HWEAHHXE(HMHA=XIIZ) 200,000 0 200,000
702 )1 SEEZS 200,000 0 200,000
(O RIE=RSE= 200,000 0 200,000
OFMA=XINS LESIAH HES
200,000, 000& 200,000




